Question Paper Title : TI_14

Date of Exam : 10-07-2019 02:30 PM

Reference 1D:(8932) Iy gl fRas .

CICIENI
C.Adl

D. AUl

Answer: C ATl

Reference 1D:(8905) Choose the option with the appropriate prefix to complete the given
sentence:

The __ covery of America is a great achievement for Columbus in his life.

A.dis-
B.mis-
C.multi-

D.re-

Answer: A.dis-

Reference ID:(9183)  TohT JHIR AdIiet 4% U 15 3M1fOr 89 U 31 GUI=AT Ufged 25 Ui Skl
311%:
A.1680
B.1275
C.1455

D.1360

Answer: B.1275



Reference 1D:(8946) WIATAUD! DI b TG RIS fohare AT (SHTSIITE) 100 T
YUIRT FaTd dIaH HRAH §ar?

A.$AdIT grea
B .Xfd SIS
C .S §HRT8

D.HIgHS Tt

Answer: D.Iﬁﬁ'ﬂ_c{ e

Reference 1D:(9178) (22)3 SRIeR fope:

A.64
B.32
C.256

D.16

Answer: A.64

Reference 1D:(8698) Choose the appropriate option with the correct punctuation marks for the
given sentence:

she said im going to make lunch

A.She said ‘Im going to make lunch’
B.She said, “Im going to make lunch”
C.She said, “I'm going to make lunch.”

D.she said I'm going to make lunch.

Answer: C.She said, “I'm going to make lunch.”

Reference 1D:(9696) TH T 10.15 dreldr dBT sl 10T at 3% diidl Teeria] dig=al. ar fadr
arsdl T Gigdell HAA?

AGURT 1.45
BT 1.45

C.gURI 2.00
D.gURY 3.30




Answer: A.QQR‘l 1.45

Reference ID:(9181) AR JUGAR! Udh FasUe deac 301 FiHT 3IhH 1106, 7630, 8688,
11630 Tl fAresTall. fSideied ITGaRTA favll T U Aai= fadt o T
fProaTetl?

A.40.02%
B.30.00%
C.48.03%

D.50.20%

Answer: A.40.02%

Reference 1D:(9152) DI UER AYH Wb (AT Seeguil) 2022 IS DHRUR 3872

NI BRI
B.®iqial
C.Hifead
D ifear

Answer: A.E&f"l’e\!ﬁ:[

Reference 1D:(8699) Choose the appropriate option with the correct punctuation marks for the
given sentence:

alas have you heard the news about the death of our President

A.Alas! Have you heard the news about the death of our President?
B.Alas! have you heard the news, about the death of our President.
C.Alas, have you heard the news about the death of our President.

D.Alas? Have you heard the news about the death of our President.

Answer: A.Alas! Have you heard the news about the death of our President?

Reference 1D:(8934) fFOTICOR Sl 9 U] a8 He.



Answer:

Reference 1D:(9154)

Answer:

Reference 1D:(8907)

Answer:

Reference 1D:(9171)

Answer:

B.q
cH

D.3{TdT

B.q

ThgaRl 2019 W, Ud TUHIT AERIFHS Wehud! HIorc f3HTon sffearsit
faemeafard) fgardl qmesd thdsd Alsd qaftd b

A FGIER
B.S{o371id

cAcs
D.4c5

cHAes

Choose the appropriate articles to complete the given sentence:

Last summer we went on cruise in the Caribbean. Among
Islands we visited were Barbados and St. Lucia.

A.no article, the
B.a, the
C.the, an

D.the, no article

B.a, the

IR, JAT 30T RS U0 97 93 9N 1R, &8T aNiyd! i aard TUIRR
3{IRH 2: 3: 4 BId. YR 9dq™ 99 H 35?2

A.24 TS
B.32 aY
C.34 a9
D.38 Y

D.38 9Y



Reference ID:(8942)  TIeTd -1 SYUIRT yafg faa.

Ao, fgdan
B.UYHYRY, faddiagsy

C.garar, agdf
D. U, Haled

Answer: B.UYHYSY, fogdiagey

Reference 1D:(8929) eld die dre aig aI] icsl.

ATTTahgi! GTaT Aigsid! He Hdel.
B.ITgeh=4iH1 aal At He .
C.Tah =it qTaT AR sl He U,
D .71t GIaT ATgaid! Het Udedl.

Answer: C.TIaHIA STe] gradidt ¥ Ude,

Reference ID:(9163) 2019 AL, I}MA SREIEIC h fSSe (TEaT) o AeyeRmHdia Hiue
3Tfor Tefid SREIE Y IgUTe HrudTd T

A3
B.IRWS
c.anfexm

Answer: A.STHH

Reference 1D:(8911) Choose the correct form of modal auxiliary verb for the given sentence:

Why did you stay at a hotel in Mumbai? You with your friend,
Manish.

A.could not have been staying
B.could not stay
C.can not be stayed

D.could have stayed



Answer: D.could have stayed

Reference ID:(8945)  JaId addTd GARATId 3 dTeRER Hagl.
O AgHt UgEi=n siadivad! fthdi.

INGISIASI
B.3Sit GTeiul
C.A1d Tl
D.Sitq STqor

Answer: B. 3ol ‘EI'IFI'l'?f

Reference 1D:(8918) Out of the following options, identify a simple sentence.

A.The children slept without supper, so they are very hungry.
B.Neither the colour nor the design is appealing.
C.The children enjoyed the field trip.

D.The play would have been interesting if it were to be shorter.

Answer: C.The children enjoyed the field trip.

Reference 1D:(8930) Qe aIaTd (A9 i,
S BT ISTQl TioTel, T IOl S STy |

AN
RIS
c.iu

D. T

Answer: C.l%ﬁf

Reference 1D:(8904) Choose the option with the appropriate suffix to complete the given
sentence:

| couldn't find any weak ____in his theory.

A.-ened

B.-ness



C.-er

D.-ish

Answer: B.-ness

Reference 1D:(8928) WWW 3fiesr.
d faemdfe=iaa faaw smaad @ der Ad.

A Tgreff

B.F8% It
C.Tgad ard
D.%dd a1

Answer: B.fay arm

Reference 1D:(8915) Choose the appropriate conjunctions for the given sentence:

He was intelligent brave.

A.from, to
B.not only, but also
C.whether, or

D.though, either

Answer: B.not only, but also

Reference ID:(9160)  HTd-2019 e, UYad Y HgeT (JUASHT) §R RITAH deted et fI=mdia™
g@ﬁaﬁh"raﬁtﬁtﬂqﬁ) HRATAHT T G Sigese - THI-d bal

Answer: A.E'CR'IQQT‘F[



Reference 1D:(9182) TR} Plel.
80, 60, 90, 10, 40 & 80

A.80
B.60
C.70

D.40

Answer: B.60

Reference 1D:(8916) Choose the most appropriate usage to fill in the blank in the given sentence:

Please help me make a ; | don’t know which book to buy.

A.decision
B.decide
C.deciding

D.decider

Answer: A.decision

Reference ID:(9189)  WTdil fadiedn Y@ el Siohid T ARy by faaia 318, ATAR Jobiar hd
i

1,2,4,8,16, 48, 64

A.48
B.16
C2

D.8

Answer: A.48

Reference 1D:(8700) Choose the correct form of adjective for the given sentence:

His act is not

A.accurate

B.crippled



Answer:

Reference 1D:(8935)

Answer:

Reference 1D:(8933)

Answer:

Reference 1D:(8917)

Answer:

C.pardonable

D.grateful

C.pardonable

Jeid arTdid S{eaard UhR 3fiedl.
‘3R B dIG Tl dlr

A R[eSTN 30T
B.hacIiaN 3y
C.3HTTa! 3oy
D.fobarfa=ioT sfy

B.hadAudNT 3y

YRRIT fhamuciar arg UeR 34
I 9T ST g8 gidl &1 el Slddd Jesd.

AR

Choose the correct form of verb that is in agreement with the subject:

One of the arguments he offered convincing.

A.seem
B.seemed
C.look

D.looked

B.seemed



Reference ID:(9192) 3 3Tf01 § e T &1 30 faadid Yol FHrdrd, @R 9 101 & W a9 &
24 feaHid YUl drdTd d9d & AT 31 g o w1 20 feawid guf dxdrd. §
3101 & WG Sgudd 1 e 12 feaw ffeg & &, R Ried®
Jead B Thed™ ol HRugrTaT 3f o ot f[daw anTdia?

A.10 feag

B.12 feayg

c.8faag

D.14 f&ag

Answer: B.12 feaq

Reference 1D:(9158) TRTST Y197 fa &1 T ST HToRT Hal STl

A SOfdeT Gl

B.HdAI9N HYHRIS
C.dR IIaRDH

D.TMfders

Answer: B. %19 AR

Reference ID:(9187) SR ‘Q ®UN ‘B ffegar, *J' UM A UMDHR BT, ‘T’ TGOS YA Ioll BRI
3TIO K’ TGUIST A URT T, TR 30K2Q3J6T5 UM fobeil?

A.28
B.33
C.A7

D.21

Answer: A.28

Reference ID:(8943)  alaud! SHIvraT Vsg arg ScfiA ferfgar simg?

Adel
B.d=l



C.dexl
D.dR&l

Answer: B.d=el

Reference ID:(8923)  faoied WsgiTerq favgrd 2rsq st

B.YUlh T
C.HIUId

o

D.faae!

Answer: B.YUTh T

Reference 1D:(8927) ';16“|c1 Tl UhR 3Nl

52 et g1 fad g3

ATt
B.fory area
C.Igad aI’
D.had a1

Answer: B.fay ar

Reference 1D:(8931) TSI STSIAR RSl U, I 1d S¥d 3 IT AT SHRAT TSl

A SAREAd
B 3-3RATd
C.3- 3r=Td

D.areATd

Answer: B.§—3ﬂ@|ﬁ

Reference ID:(8944)  JaId AIayRIRI<AT A SfTdT Uaid e,
IS URERT O HioTol-



A 3 d B3I GRTRIATR HId HR0T
B.3(Qd 3{dUS HH RIS HRUI

C. 3 Brdld faad b1

D.37d H3101 YRR & TH B0l

-~

Answer: B.31d 3(AYS HTH RIS BV

Reference ID:(9170)  WiNRid HIYS] BT SHACUN T T gidl.

Answer: D. i

Reference 1D:(8936) e smft oy gty fAger,
T, T, faveRdt aeian uiRumy 81 ST Yeai=an =T 98 gid ATt il

Afaarst
B.3ff[dH R
C.AMH

D.3{&R

Answer: B.3ifa®ry

Reference ID:(9155) 2018 T "YUGHTT HUd" Taxid Hfgdid T WRTs~T 30 Y
SITATST ST Tl BIe.

AT
BRI
C.3RTTeTE
D . UTae3T

Answer: C.3TETe



Reference 1D:(9162) 26 TrgaRT 2019 Jofl, UiferxamH i HIUTAT SHiqdbarg] STavl aR YR
ARG (SMUU) G bl BIell?

A.3Q-BTIG]
B.SIRI-T-HgHG
C TSHR-T-aT
DRUSTGIE

Answer: B.@QT—Q—W

Reference ID:(9167)  ®IUIAT YR WedTg Aleii™, Haeigd A 20 9 f@dex 89 Se-3Md
Jeftic =fiv® 2019 fSidpa?
AL 1. Riy
B.gfa gt
C g1 gard

D.SaTel Tl

Answer: B.B’ﬁiﬁ E{Fﬁ

Reference 1D:(8922) fediedn YsaierqH favaf e s,
LSER [y ' g——

ABIA
B.HIa!
c.adst

D.§IUe

Answer: D dIUT

Reference 1D:(9180) 360 =T 80% + 200 AT 20% — x = 116

A.182
B.212
C.242

D.263

Answer: B.212



Reference 1D:(9165)

Answer:

Reference 1D:(8913)

Answer:

Reference 1D:(8901)

Answer:

Reference 1D:(8941)

YR AU HIUT e 3= YRl YRR AHudb Bl
RTSUTTE el Sdal Sl 318 g Rdl.

A. 3G 112
B.3fJ®5¢ 400
C.31 g 217
D.3{w5G 356

C.3J=5¢ 217

Choose the appropriate prepositional phrase for the given sentence:

We are forwarding all the items on the list your request.

A.of accordance
B.inspite of
C.in accordance with

D.with accordance

C.in accordance with

Choose the correct form of adjective for the given sentence:

She loves to help the blind across the road; she is

A.considerate
B.loveable
C.dedicated

D.sincere

A.considerate

Jeld Jalid dreddid favmferg e,
TRIS! AN FHed, AHed, JHRM, TH-TY 3Te! FdredT Ja-i-1 FRI31
ggaa.

A W™



B.3aRfI<g

C.faspeufrg
BRIRIUICE

Answer: A FeafdRH

Reference 1D:(8914) Choose the most suitable conjunction for the given sentence:
No, it wasn't hot; , it was quite chilly.

A.on the contrary
B.nevertheless
C.moreover

D.besides

Answer: A.on the contrary

Reference ID:(9173)  TE SATIOT YrAdEREIH URIT TUIRR 7:17 31T SATIOT rAd 0T 3o i
Wﬁﬂ@gﬂiﬂ?ﬂ%&awﬁrw 3{T8. SR HigAd s 560 ¥UY S, TR
3D S .

A.3302.85 ST
B.3320.85 30
C.3321.85 30

D.3322.85 30

Answer: A.3302.85 ST

Reference ID:(8924)  WIIG¥Ieq AUAAT Xeg 35l



Answer:

Reference 1D:(9185)

Answer:

Reference 1D:(9153)

Answer:

Reference 1D:(9161)

Answer:

Reference 1D:(8902)

D. R

%. 10 fhHd SrEeied a%al %. 2 dicd fash! dhell TR ATl TdhaR] d1Y
311872

A.20 %

B.25 %

C.10 %

D.5%

A.20 %

13 T 2019 ol WU HIv STfera-are SN gTh ST Tdlea il
YEGTSTCH QUITTAT AP A dbet?

A HRAT IFYCHT

B.HRAT SWRIPU
C.YRdTd Gd g™

D.UsTTad g Tt

B.HRdTd IURTPU

g1 fTegT grRRHATe ufaS—=ar sidvid fRaford gfar sieul sied
SHIANHD AHEZIS) AT HFT 33,

Aol
B.Riggf
C.3m
D 11

B.Rieg

Fill in the blank with the correct noun for the given sentence:

Sometimes, simple things create the greatest

A.mystics

B.mystical



Answer:

Reference 1D:(9186)

Answer:

Reference 1D:(9174)

C.misery

D.mysteries

D.mysteries

TTe fEdedn IR Uaiter! SHIuTdT U Wiet fdiedT Uit Seun! Jeod
C 15

Paradise Drive Wirrina Cave, South Australia, Yankalilla, SA 5203,
Yankalilla SA 5203, Australia

+61 8 8598 2400

(i) Paradise Drive Wirrina Cave, South Australia, Yankalilla, SA 5203,
Yankalilla SA 5203, Australia
+61 8 8598 2400

(i) Paradise Drive Wirrina Cave, South Australia, Yankalilla, SA 5203,
Yankalilla SA 5203, Australia

+61 8 8598 2400

(iii) Paradise Drive Wirrina Cave, South Australia, Yankalilla, SA 5203,
Yankalilla SA 5203, Australia

+61 8 8598 2400

(iv) Paradise Drive Wirrina Cave, South Australia, Yankalilla, SA 5203,

Yankalilla SA 5203, Australia
+61 8 8598 2400

B.ii
C.iii

D.iv

B.ii

ST IGHAT 4% 240 3MMed 3T BT BV 37g?

A.5000 3T
B.5500 SUY
C.6000 ST



D.6500 3T

Answer: C.6000 STY
Reference 1D:(8919) Choose the correct form of tense for the given sentence:
I several withesses who my account of what

A.have, will confirm, happened
B.had, confirm, has happened
C.have, confirmed, happened

D.am, are, had happened

Answer: A.have, will confirm, happened

Reference 1D:(8906) Choose the appropriate articles for the given sentence:
My friends live in old house in ___ small village. There is ___ orchard
behind _ house and a small pond in front.

A.a, the, an, a
B. the, the, a, an
C.a, the, the, an

D.an, a, an, the

Answer: D.an, a, an, the
Reference 1D:(9156) IuH YR ST M1 BRI TETS, HRIRIAR WIeR!
HIUTTT 3Telt glail.
A.1921
B.1916
C.1942
D.1931

Answer: B.1916



Reference ID:(9184) ARy Yohdmed ‘DESERIBE’ @ ‘FCJSFTFE’ 3 faifgdt Srd. 1 Habamsd
‘CONSIDER’ @1 %¥ fafgd smea?

A.SFEJTOPD
B.ESFJTOPD
C.QETFJOPD

D.DPOTJFEQ

Answer: A.SFEJTOPD

Reference 1D:(9179) qrear:
(-5)°% (-5)°x (5)?

A.(5)"3
B.(-5)°
C.-(5)"3

D.(-5)°

Answer: C.-(5)"3

Reference 1D:(9695) FIOTdT 3T IR T SE AT gﬂﬁa’l—s?rﬁﬁﬂ ?

{*:E';?; ‘-’

H H H I



Answer:

Reference 1D:(9191) 31 ¥ed § Yed ol AN CTH UM 50 maa T THHB T 20 eha e
3{Idigdrd. 31 310 § Yead! diel 3Iehy 160n°f€rrrf612401ﬂ3?|$°r&n% ™
240 T e 3] Teh] YaTd NS Ut il fobet Yeharal dad drld?

A.28.18 ¥dhg
B.68.57 Ydhg
C.45.57 Ve
D.38 ¥dg

Answer: B.68.57 Ydhc

Reference ID:(8925)  WIIG¥Ieq AUCIAT Veg ST

A e

B.YFT
C AyTfaRdic

Answer: A.Iﬁ&l'EITl?ﬁ

Reference 1D:(9169) JUTe RIMH, Jedt MY Ui TR Bl

A SRR 3{Hd 3fRTaR
B. I SHTIOT SRR
C..3RYIT=AT UTS TN

D a1 TN

Answer: C. 3RT=AT UIS R



Reference 1D:(8697) Choose the option that has the correct spelling for the missing word in the
given sentence:

He prefers to wear clothing while sleeping.

A.loose
B.lost
C.louse

D.losse

Answer: A.loose

Reference ID:(9177) SR HIRIT=AT Ueh] YHG o 3 fob¥l 318 IO g eiel Ui TR g
150 U 3T, TR T AR - 3T

A10
B.20
C.15

D.30

Answer: B.20

Reference ID:(9172)  fUdHd 9fHM a0 § 3RUT=AT aaT=AT fadwie 31Tg. 10 auiHR, d Had guc 3.
3{TAT 31U T BT 3172

A5 T
B.8 9%
c.10ay
D.12 a%

Answer: C.10 aﬁf

Reference ID:(9159)  Wcitides! HIvIdT Hayd RIeR ATgl?

A .U HIUY] gdh

B.JHM T g9

C.4H WIdET g9

D . XYUNTa¥ e gIPh



Answer:

Reference 1D:(9157)

Answer:

Reference 1D:(8909)

Answer:

Reference 1D:(8950)

Answer:

Reference 1D:(9175)

A U HIYE] gdh

YR ge-Ta1 ST w56 9d YR a1 g dl?

A.3Tw5¢ 101
B.31Tw5G 109
C.3 =g 12

D. 3 w5g 312

D.3{Jw9G 312

Choose the appropriate determiner for the sentence given.

We had idea of what the question was all about, so we couldn’t
answer it.

A.a little
B.no
C.any

D.many

B.no

HERIFHLTd afao Sieul f-RugEl Tal 33,

A St
B.Tes 1=t
c.qamd
D. I3t

A ST

52 Tl ST U] YU Th P18 HIad ofd. didbe Aol fdhar didwe el
e g THTeTar 318,

A.1/52

B.52/1



C.1/26

D.26/1

Answer: C.1/26

Reference ID:(8947)  HBRIFTIT QAU PIUTAT IGRIST IS §F THOIA ST ?

ATSES

Answer: C.Hﬁf

Reference 1D:(8939) g T eald Db da .

AJa
B.g¢f
C.gH
D.gafm

Answer: B.9&

Reference 1D:(8908) Choose the correct form of verb for the given sentence:

Modern managers work in a cluster of offices that are an atrium in
the middle of the building.

A.wrapped by
B.wrapped in
C.wrapped with

D.wrapped around

Answer: D.wrapped around



Reference 1D:(9193)

Answer:

Reference 1D:(9166)

Answer:

Reference 1D:(8903)

Answer:

Reference 1D:(8926)

THT YT 30% YEd iqeTard! 3Ted. IdRd Jeddid! 50% Jxddb
SISIT SO IART G T 40% YA ST 3Med. 3aRd 4200 Tddh
UICRI%b U= 3fTgd. YU Ydh il ThHUl T-H1 B g ?

A.10000
B.15000
C.20000

D.25000

C.20000

RS JH UHH Ufdeied el (1971), HRA=A =T 3TCRT
gfdsy B e,

AP @
B.IISIT &
C Jfaum
D1y 1fid

B.IISIT &

Choose the appropriate collective noun to complete the sentence:

Every morning the follows its coach for cricket practice.

A.team
B.group
C.class

D.band

A.team
Yeidl Qeard e aficawr.
HTYOT

AT
B. Tlfei

C . AYHBIAT



D.3HITCHT

Answer: C.WT

Reference 1D:(8938) qeId AT Sy faRsuTmen vt fAaer.

Answer: INGIEG]

Reference 1D:(9176) 1T 10 AP e fdide Hesa e 0T 7T Aefesdhunl U fdfde
Fled Id. Bleded fdfdberar 2 =1 Yekdrd TAT SRIuaTH! SHTI B 3H1g?

A1/2
B.20/9
C.8/13

D.13/8

Answer: A.1/2

Reference ID:(8921)  faciean Xrsaiterqd ara At 2rsg fHaa.
EIRK

A3
B.ITSl
Cd
D.fgst

Answer: D.@Tv{

Reference 1D:(8696) Choose the option that has the correct spelling.

A.Consonant



B.Consonent
C.Cansonent

D.Censonant

Answer: A.Consonant

Reference ID:(8949)  3IUYUINA Hecl-WIEH REWPR 2019 ALY ‘fawmaiT WesTg =1 faoidr Wrefiadat
DI BlaT?
A TR HIET (39 I
B.T&hdl HIH(URI-TYieIa)
C.HoR 81 Ut. Rig @)
D.IU1 gfeish (M Ie)

Answer: B.THhdl YT (URI-TYIC )

Reference 1D:(8937) TTeTd - SYUIR] g i34l
IR}, PUIR, AR, WNS,.

AT}

B.UIE

XSS

D. {3

Answer: D.d\3

Reference 1D:(8940) Yeld dieided g o 3oy T,

Dd

Answer: chH



Reference 1D:(9168) AU IGTVHI0 YR dibayT fdhar 9¥¢ e a1 Jaxd
TS BT 3HTA?

A.523
B.510
C.552

D.560

Answer: C.552

Reference ID:(9190) R SIft Iivar W FagH @t quf &

121, 225, 361, , 7129

A.451
B.494
C.529

D.629

Answer: C.529

Reference 1D:(8912) Choose the appropriate prepositions for the given sentence:

Reston, Virginia, there is a modern school built a mountain.

A.On ... across
B.At...in
C.In ... inside

D.From ... on

Answer: C.In ... inside

Reference ID:(8948) 2 ThgdIRl 2019 Jiohl HYT i URUMARIA Ufga od TR SRt Hrishd
WD DIV RERTHED TSI el Bdl?

A0
B. 4l faeait

C.YcHl



Answer:

Reference 1D:(9164)

Answer:

Reference 1D:(8910)

Answer:

Reference 1D:(9151)

Answer:

D.geRIeTE
Aol

qifbedAed Hae Heame Fag Fddl Ul URl feg afge o1 3ig?

A PN HHR Blgait
B. 3T SIS 3l

C XISl IferH Afeid

D. R It HedR

A PN HHRT B!

Which of the following options best combines the two given sentences?

Press the red button. The machine will stop.

A.If you had to press the red button, the machine will stop.
B.If you pressed the red button, the machine will stops.
C.If you press the red button, the machine will stop.

D.You had pressed the red button, if the machine will stop.

C.If you press the red button, the machine will stop.

HERTY g affor BINECHIEIEECEI]
<1 aT3f Ao sSiaid URIHIT SIS [aRIY REBRI T HRuard
3T,

A SIe5TTd, SETHTEIG

B.STe571d, ANTYR

C.3HIIdIq, NTYR

SCUICASINEI

A SITd, STFTEIG



Reference 1D:(9188)

Answer:

Reference 1D:(8920)

Answer:

TTelie U § @relt fedean ura b sist T=aiar syt 3img:

468 679 732 835 359

SR UAS TH 1 7 10T 2 =T 3fhT=al R SGaded bal, R HIurd!
T3] Faid T8 3RdA?

A.679
B.835
C.732

D.468

C.732

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

He was so intrusive to find out the problems of others that for him curiosity
killed the cat.

A.Very talkative and unpleasant
B.Being inquisitive can lead to an unpleasant situation
C.Showing the necessary decorum

D.Indicating friendliness and curiosity

B.Being inquisitive can lead to an unpleasant situation



